

### 201 FISHERMANS WY, JUPITER, FL, 33477

https://ritterproperties.com

BOATERS DELIGHT Nestled on the pristine Intracoastal Waterway with direct, no-fixed-bridge access to the ocean this exquisite 4-bedroom home offers the perfect blend of luxury and convenience. Ideally located just minutes from shops, restaurants, and beautiful beaches, this residence features an open floor plan that flows seamlessly from room to room. The spacious master bedroom [...]

- 4 heds
- 3 haths
- Residential
- Single Family Residence
- Active
- 3940 sq ft



This site can't load Google Maps correctly.

Do you own this website? g.co/staticmaperror/signature



### **Basics**

**Date added:** Added 1 month ago 
Category: Single Family Residence

**Type:** Residential **Status:** Active

**Bedrooms: 4** beds **Bathrooms: 3** baths

**Half baths: 0** half baths **Total rooms:** 8

**Area: 3940** sq ft **Lot size, sq ft: 15651** sq ft

SubdivisionName: Waters Edge Estates ListOfficeName: Waterfront Properties & Club C

**GarageSpaces:** 4 **View:** Intracoastal View

ListAOR: Miami Association of REALTORS® MLS ID: A11648670

#### **Rooms**



Room type	Dimensions	Area	Length	Width
Kitchen	12.6 x 11	138.6	12.6	11
PrimaryBedroom	14.6 x 18.8	274.48	14.6	18.8
LivingRoom	24.4 x 17	414.799999	24.4	17
ThirdBedroom	16 x 14.8	236.8	16	14.8
Den	18 x 12.1	217.799999	18	12.1
DiningRoom	14 x 12.8	179.2	14	12.8
SecondBedroom	13.7 x 12	164.399999	13.7	12
FourthBedroom	10.8 x 12	129.6	10.8	12

# **Building Details**

**Cooling features:** Central Air

**ArchitecturalStyle:** Detached, Two Story

**Building Name:** Waters Edge Estates

Roof: Barrel Roof

Parking: Driveway

Year built: 2002

**NewConstructionYN:** No

**Exterior material:** CBS Construction

**Heating:** Central

# **Amenities & Features**



Features: Closet Cabinetry, Den/Library/Office,

Family Room, First Floor Entry, Utility Room/Laundry, Walk-In Closet(s)

CommunityFeatures: None

**ExteriorFeatures:** Open Balcony

Waterfront available: Yes
AttachedGarageYN: Yes

PoolPrivateYN: No

**Amenities:** Dishwasher, Dryer, Electric Range, Microwave, Refrigerator, Washer

WindowFeatures: Complete Impact

Glass, Impact Glass

PoolFeatures: In Ground, Heated

GarageYN: Yes
CoolingYN: Yes
FireplaceYN: No

